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2019(0Odd) o1d Synabus

Time : 3Hrs. Sem - V/E.
P. E.

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10. Discuss the following terms for diodes :

11.

(a) PIV
(b) Reverse recovery time

(¢) Softness factor

sHe @ fay fr=ifea usl @ s ax:
(31) dlo 3ms0 *io

@) Rad Read 99

(|) |fweer Tonsd

OR (3121d1)

How does a relaxation Oscillator work ? Draw the

V-I characteristic.

Uh RaAmIE ARTder 9 & dxar € ?
sA®! V-1 fagivar &1 siee Eia |

Describe principle and working of ZCS converter.

What are its advantages and limitations ? 8
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(i)

(1i1)

(iii)

(iv)
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THoTHoUloUHo # Soa AGHT s—asi+
3 999 Suygdd gfaa 2

(31) fostodlo

(‘q’) 3]1—5‘0\?‘)[0%‘)[0?,"[0

(\) #Wivwe

(g) Sfodioatio

A thyristor can be termed as
(a) DC swhitch

(b) AC switch

(c) Either (a) or (b)

(d) Square wave switch

IrIR¥ER foda U d ST Wrar 82—
(a1) Stoddflo w=

@) Todlo 4

(@) @) a1 (@) @1g

(®) @t o= =

An SCR is considered to be semicontrolled

device because

(a) It can be turned off but cannot be ON
with a gate pulse

(b) It conducts only during half-cycle of an
alternating current wave

(c) It can be turned ON but not OFF with a gate

pulse
(d) It can be turned ON only during one half-
cycle of an A.C. voltage wave
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GROUP -C

Answer all Five Questions.

9l uig g3 & SN < |

7.

8x5=40

Explain R and RC firing circuit of SCR with neat

circuit diagram and wave form.
8

oo UYL IR dAT d¥T Bid & A1 R
dar RC AT uRuer &1 qufqa & ol
THoodRo # YYad shar 2 |

OR(3721dT)

Give the concept of electric drive using Thyristor.

ARIREEY BT AT $d gY faegd g1sd &)
IR&UAT N |

Explain the basic principle of a two quadrant

chopper.
8

3l F@rsie AR @& Jaqad Rigra @1 aaren
& |
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(vi)

(vi)

(vii)

(vii)
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UlJT. isa:-
(a) Current controlled device
(b) Voltage controlled device

(c) Relaxation oscillator
(d) All of the above

??{\oTr\[oé)[o Udh :

(1) em=r frfya gfea 2
@) dreew Frifya gfaa 2
(@) Relaeraq AfRrdex 2
(%) Suraa a+H

The SCR can be operated in which biasing
mode :

(a) Forward

(b) Reverse

(c) Both (a) & (b)

(d) None of these

To Hlo IMRo @l fa IrafyT dAis &
1R HRATAT ST 28—

(31) wixars

(@) Seer (Rad)

(&) <= (31) qoar (9)

(@) 379 A B3 T
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OR(3721d) (x)

What is the inversion mode of converters ?

H-dcY Bl gdd- Als a1 2 ?

(x)
Why is free wheeling diode used in rectifier circuit ?

4
BI—BIfl T SRS T YT IfFewrar gRuer

H Fl Bd o7

(xi)
OR (3121a1)

What is the advantage of TRAIC over an SCR ?

Explain . (xi)

TRAIC &T SCR &1 3MU&l FI—FT oY & ?

Mention different applications of chopper.

IR & fafi= sSgahn &) ford |
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The selection of rectifier diode depends
mostly on

(a) Forward voltage

(b) Reverse voltage

(c¢) Fault current

(d) Average load current

MfITHRR SIS &1 g9 AfHiad:
foiR ovar 2

(31) wikars dlecw |

(@) Rad areew 9

(4) Wice arT A

(%) 3iHa 9IR aRT ¥

The function of a filter in a rectifier is to
(a) Limit the total current in the rectifier
(b) Limit the peak voltage of the rectifier
(c) Limit the DC current

(d) Reduce the ripple voltage in the output

fod AdewrrR § fheer &1 o1 grar
?:
(@1) MFeHRR 4 G garT &1 FRBA

BT

@) MdewrR & % arees &1 T
BT

(A) oo aRT HI R B

(]) amseye H Rwd diced &l &4
BT
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(xix)

(xix)

(xx)

(xx)
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A time-margin for series inverter ensures :
(a) Low power loss

(b) Safety of the device

(c) Improved power factor

(d) Absence of harmonics

U Al 39X @ forv gg—wrisia
gfif¥aa svar 2:

(a1) fo=1 wrfam =1t

@) gfea &1 gran

(@) dear wufad Tuie

(c) smifraw 31 srguRRerfa

An OP-AMP can be classified as ..............
amplifier.

(a) RC-coupled

(b) Linear

(c) Positive feedback

(d) None of these

OP-AMP @I .............. U RR o
Fiftga fear s awar 2

(31) MR oHobUcs

@) Ng®

(¥) g9 TS Bredd

(€) g 4 »iIg &
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(xiv)

(xiv)

(xv)

(xv)
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Gate characteristic of a thyristor

(a) Is a straight line passing through origin
(b) Is of the type Vg =a + blg

(c) Is a curve between Vg and Ig

(d) Has a spread between two curves of Vg-Ig

Ush IR &1 e Afraeror aidr 2:

(31) o Y@ > qreId 9 [ERA drefl
Heft @

(d) Vg=a+blg &I a¥g &I

() TP a9 Vg dr g €9

(] Vg-Igd &1 adl & €19 har g

Reactive loading of supply lines by a
converter is directly dependent on.

(a) Displacement angle only

(b) Displacement angle and distortion factor
(c) Back emf in the load circuit

(d) Circuit configuration

$-acx g1 3Yfed <rga &1 Rufaeq

R fer R exar 21

(31) ®ad faTemus HIvT W

@) fazermu= ®ivr don feeiRa s
W
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